Time-integrated sampler
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C,, =1.07109x107°V

(L=10m,B=0.50m,H=0.50m)




(hours)

(gf/cm?)
11 1/50 4.11% 10 3
1-2 1/100 4.11x 107 3
13 1/200 4.11% 107 3
2-1 1/50 2.33x 10? 3
2-2 1/100 2.33x 107 3
2-3 1/200 2.33x 107 3
31 1/50 1.37x 10 3
3-2 1/100 1.37x 10 3
3-3 1/200 1.37x 10° 3
4-1 1/50 4.11x 10? 1
4-2 1/50 4.11% 107 6
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casel-1,2-1,3-1,4-1,4-2
casel-2,2-2,3-2

casel-3,2-3,3-3

casel-1,1-2,1-3,4-1,4-2

X X
(cm/s) (gt/cnr) (gf) (of)
1-1 124.1 0.0436 3475 5066 0.686
1-2 715 0.0412 2548 4285 0.595
1-3 98.6 0.0433 2292 4406 0.520
2-1 105.1 0.0232 1494 3439 0.434
2-2 90.8 0.0234 1270 2513 0.505
2-3 86.9 0.0231 867 2445 0.354
31 117.3 0.0153 929 2262 0.411
32 86 0.0138 292 1431 0.204
3-3 83.1 0.0143 273 1455 0.187
4-1 115.7 0.0463 1282 2309 0.555
4-2 119.4 0.0403 7203 11956 0.602




case2-1,2-2,2-3
X

case3-1,3-2,3-3 X
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